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Question Id : 92090614982 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India's fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. I can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found gulty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090614983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the term ‘incognito’ is:

(1) Inclusive (2) Inaudible
(3) Undutiful (4) Concealed
Options :

92090659201. 1
92090659202. 2
92090659203. 3
92090659204. 4

Question Number : 2 Question Id : 92090614984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090659205. 1
92090659206. 2
92090659207. 3
92090659208. 4

Question Number : 3 Question Id : 92090614985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The antonym of ‘remission’ is:
(A) Exoneration

(By Censure

(C)  Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1)  (A)and (B)
(2)  (B)and (C)
(3)  (B)and (D)
(4) (D) only
Options :
920906592009. 1
92090659210. 2

92090659211. 3
92090659212. 4

Question Number : 4 Question Id : 92090614986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Going incognito’ means:

(A) Using false name
(BY Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2) (A), (B)and (C)

(3)  (A), (B), and (D)

(4) (A, (B), (C) and (D)

Options :

92090659213. 1
92090659214. 2
92090659215. 3
92090659216. 4



Question Number : 5 Question Id : 92090614987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India 1s ranked 161, behind nations such as Pakistan, Afganistan ete.
(3) Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090659217. 1
92090659218. 2
92090659219. 3
92090659220. 4

Question Id : 92090614982 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



It depends on who is giving the rating: Centre on India’s rank in
press freedom index

KRISHNADAS RAJAGOPAL, NEW DELHI

Solicitor-General Tushar Mehta, appearing for the government in the Supreme
Court on Tuesday, made light of India’s fall to 1615t position in press freedom
ranking, saying “that depends on who is giving the rating. [ can have my own forum
and give India the first rating”.

The remake was in response to the Supreme Court’s observation that India has
fallen to the 161%t position out of 180 countries in the World Press Freedom Index
published by the non-profit organization, reporters Without Borders. In 2022, India
was ranked at 150.

India is ranked behind countries such as Afghanistan, Pakistan and Somalia.

“India 15 161 in ranking in journalistic freedom,” Justice K.M. Joseph,
addressed the Union and Gujarat government, represented by Mr. Mehta during a
hearing in the Billkis Bano case.

HEARING ON JULY 10

: Change between Justice Joseph and Mr. Meht came while the Supreme
Court ordered the publication of a notice giving the details of the case and the next
date of court hearing, July 10, in two vernacular papers in Gujarat to alert those
unserved among the 11 convicts who were released prematurely from their life
imprisonment. They had been found guilty of the gang rape of Ms. Bano and the
murder of her family members. Ms. Banop and other writ petitioners have separately
challenged their remission.

The hearing, at one point, saw the Supreme Court wonder whether some of the
released conviets were making a “mockery” of or even “playing” with the court by
either going incognito to hamper the serving of notice of the case on them or seeking
time to file counter affidavits. Previous hearings have been a no go with lawyers for
the men seeking adjournment on procedural grounds.

The court decided to publish the notice in the newspapers so that the convicts
would not take the plea of ignorance and the case could go ahead and be heard on
merits.

Sub questions

Question Number : 1 Question Id : 92090614983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Synonym of the term ‘incognito’ 1s:

(1) Inclusive (2) Inaudible
(3)  Undutiful (1) Concealed



Options :

92090659201. 1
92090659202. 2
92090659203. 3
92090659204. 4

Question Number : 2 Question Id : 92090614984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘Made light of means:

(1) Removed darkness
(2) Put something on fire
(3) To act as if something is serious especially when it is not serious

(4) Play down

Options :

92090659205. 1
92090659206. 2
92090659207. 3
92090659208. 4

Question Number : 3 Question Id : 92090614985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The antonym of ‘remission’ is:
(A) Exoneration
(B) Censure
(C) Reprieve

(D) Increase

Choose the correct answer from the options given below :

(1) (A) and (B)
(2)  (B)and(C)
(3) (B)and (D)
(4) (D) only

Options :
92090659209. 1



92090659210. 2
92090659211. 3
92090659212. 4

Question Number : 4 Question Id : 92090614986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘(zoing incognito’ means:

(A) Using false name
(B) Wearing a disguise
(C) To be recognised
(D) Not to be identified.

Choose the correct answer from the options given below :

(1)  (A)and (D)

(2 (A), (B)and (C)

(3)  (A), (B), and (D)

(4)  (A), (B), (C) and (D)

Options :

92090659213. 1
92090659214. 2
92090659215. 3
92090659216. 4

Question Number : 5 Question Id : 92090614987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why Justice K.M. Josheph addressed Gujurat Government during the hearing?

(1)  Gujurat is the reason behind our sharp fall in press freedom ranking
(2) India is ranked 161, behind nations such as Pakistan, Afganistan ete.
(3)  Bilk is Bano case was iniatiated and registered in Gujurat.

(4)  The murder convicts were not arrested by the then Gujurat government.

Options :

92090659217. 1
92090659218. 2
92090659219. 3



92090659220. 4

Sub-Section Number : 2
Sub-Section Id : 920906482
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word VINDICTIVE' is

(1) Revengeful (2) Bigoted
(3)  Demonstrative (4) Strategic
Options :

92090659221. 1
92090659222. 2
92090659223. 3
92090659224. 4

Question Number : 6 Question Id : 92090614988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word "VINDICTIVE' 1s

(1) Revengeful (2) Bigoted
(3) Demonstrative (4) Strategic
Options :

92090659221. 1
92090659222. 2
92090659223. 3
92090659224. 4

Question Number : 7 Question Id : 92090614989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city 1s slowly finding takers most of them college
students who would earlier depend cabs and bike taxis
commuting.

(1) in, upon, to (2) in, on, for

(3) in.off, for (4) on, with, on

Options :

92090659225. 1
92090659226. 2
92090659227. 3
92090659228. 4

Question Number : 7 Question Id : 92090614989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

The e-cycle project the city is slowly finding takers most of them college
students who would earher depend cabs and hike taxis
commuting.

(1) in, upon, to (2) 1in, on, for

(3) in.off, for (4) on, with, on

Options :

92090659225. 1
92090659226. 2
92090659227. 3
92090659228. 4

Question Number : 8 Question Id : 92090614990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090659229. 1
92090659230. 2
92090659231. 3
92090659232. 4

Question Number : 8 Question Id : 92090614990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the meaning of the term “Bon vovage”

(A) Used to express good wishes to someone about to set off on a journey.
(B) Good morning.

(C) Long Journey.

(D)  Good night.

Options :

92090659229. 1
92090659230. 2
92090659231. 3
92090659232. 4

Question Number : 9 Question Id : 92090614991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (40 BITUMINIZE
Options :

92090659233. 1
92090659234. 2
92090659235. 3
92090659236. 4



Question Number : 9 Question Id : 92090614991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the following option:-

(1) BITUMENEZE (2) BIBEMINIZE
(3) BETUMINEZE (1) BITUMINIZE
Options :

92090659233. 1
92090659234. 2
92090659235. 3
92090659236. 4

Question Number : 10 Question Id : 92090614992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces 1s called:

(1) Agoraphobia (2) Anachronism
(3)  Anecdote (4) Apiary
Options :

92090659237. 1
92090659238. 2
92090659239. 3
92090659240. 4

Question Number : 10 Question Id : 92090614992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fear of open spaces is called:

(1) Agoraphobia (2) Anachronism
(3) Anecdote (4) Apiary
Options :

92090659237. 1
92090659238. 2
92090659239. 3
92090659240. 4



Question Number : 11 Question Id : 92090614993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 (4) 5
Options :

92090659241. 1
92090659242. 2
92090659243. 3
92090659244. 4

Question Number : 11 Question Id : 92090614993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A boat goes 12 km in one hour along the stream and 6 km in one hour against the
stream. Th speed of the stream in km/h 1s:

(1) 2 (2) 3
(3) 4 4 5
Options :

92090659241. 1
92090659242. 2
92090659243. 3
92090659244. 4

Question Number : 12 Question Id : 92090614994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of " +x* - x' —x" +x-1.

(1) 280 (2) 270
(3) 290 (4) 300
Options :

92090659245. 1
92090659246. 2



92090659247. 3
92090659248. 4

Question Number : 12 Question Id : 92090614994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For x = 3, find the value of x" +x* - x* —x" +x-1.

(1) 280 2) 27
(3) 290 (4) 300
Options :

92090659245. 1
92090659246. 2
92090659247. 3
92090659248. 4

Question Number : 13 Question Id : 92090614995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50¢m respectively. Find
the side of the new cube formed by melting the three cubes (in em)

(1) 60 (2) 120
3) 90 (4) 80
Options :

92090659249. 1
92090659250. 2
92090659251. 3
92090659252. 4

Question Number : 13 Question Id : 92090614995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sides of three solid metallic cubes are 30em, 40cm and 50em respectively. Find
the side of the new cube formed by melting the three cubes (in ¢m)

(1) 60 (2) 120
3) 90 (4) 80



Options :

92090659249. 1
92090659250. 2
92090659251. 3
92090659252. 4

Question Number : 14 Question Id : 92090614996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only ¥ 12,580. If the annual
rate of compound interest 1s 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090659253. 1
92090659254. 2
92090659255. 3
92090659256. 4

Question Number : 14 Question Id : 92090614996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ankit owes ¥ 42,580 on his credit cards, but he could pay only  12,580. [f the annual
rate of compound interest is 10%, then how much will he owe after 4 years?

(1) Rs. 42,580 (2) Rs. 43,000
(3) Rs. 43,923 (4) Rs. 44,228
Options :

92090659253. 1
92090659254. 2
92090659255. 3
92090659256. 4

Question Number : 15 Question Id : 92090614997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 L =l
3 3
Options :

92090659257. 1
92090659258. 2
92090659259. 3
92090659260. 4

Question Number : 15 Question Id : 92090614997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The perentage of loss when an article is sold at Rs. 50 is the same as that of the profit
when it 1s sold at Rs. 70. Percentage of profit or loss on the article 1s

(1) 10% (2) 12%
(3) 16 2";" (4) 8 Lo
£ )} — S0 & — %0
3 3
Options :

92090659257. 1
92090659258. 2
92090659259. 3
92090659260. 4

Question Number : 16 Question Id : 92090614998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5, 22 57, 1186,
(1) 216 (2) 205
(3) 207 (4) 192
Options :
92090659261.
92090659262.

92090659263.
92090659264.

AW N =



Question Number : 16 Question Id : 92090614998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which number comes next in the following series?
0, 5,22 57 118,
(1) 216 (2) 205
(3 207 (4) 192
Options :
92090659261.
92090659262.

92090659263.
92090659264.

AW NN~

Question Number : 17 Question Id : 92090614999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

{(A) Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C)  Diseases, Leprosy, Scurvy
(D) Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1)  (A) and(B) only
(2) (B) and (D) only
(3)  (A) and (D) only
(4)  (C) and (E) only
Options :



92090659265. 1
92090659266. 2
92090659267. 3
92090659268. 4

Question Number : 17 Question Id : 92090614999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following group best represented by the figure below:

(A)  Men, Citizions, Educated
(B)  Professionals, Doctors, Lawvers
(C) Diseases, Leprosy, Scurvy
(D)  Earth, mountain, Forests.

(E) Atmosphere, Water, Hydrogen.

Choose the correct answer from the options given below :

(1) (A) and(B) only
(2) (B) and (D) only
(3 (A) and (D) only
(4) (C) and (E) only

Options :

92090659265. 1
92090659266. 2
92090659267. 3
92090659268. 4

Question Number : 18 Question Id : 92090615000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090659269. 1
92090659270. 2
92090659271. 3
92090659272 4

Question Number : 18 Question Id : 92090615000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenitfy the correct water — image of the fig. (X)

Fig. (X)
(1) / (@) :
(3) - (1)

Options :

92090659269. 1
92090659270. 2
92090659271. 3
92090659272. 4

Question Number : 19 Question Id : 92090615001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090659273. 1
92090659274. 2
92090659275. 3
92090659276. 4

Question Number : 19 Question Id : 92090615001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If in a certain language, GRASP is codes as BMVNEK, which word could be coded as
CRANE?

(1) FUDQH (2) GVERI
(3) HWFSJ (4) BQZMD
Options :

92090659273. 1
92090659274. 2
92090659275. 3
92090659276. 4

Question Number : 20 Question Id : 92090615002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indians ﬁ Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1) 3 (2) 6
(3) 2 (4) 4
Options :

92090659277. 1
92090659278. 2
92090659279. 3
92090659280. 4

Question Number : 20 Question Id : 92090615002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians n Leaders

Singers

Which region represents leaders who are neither singers nor Indians?

(1 3 (2) 6
(3) 2 (4 4
Options :

92090659277. 1
92090659278. 2
92090659279. 3
92090659280. 4

Question Number : 21 Question Id : 92090615003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal
Options :

92090659281. 1
92090659282. 2
92090659283. 3
92090659284. 4

Question Number : 21 Question Id : 92090615003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has won the women's singles title of Odisha badminton tournament held in
Cuttack, Odisha in the year 20227

(1) Ashly Barty (2) Unnati Hooda
(3) P V Sindhu {(4) Saina Nehwal



Options :

92090659281. 1
92090659282. 2
92090659283. 3
92090659284. 4

Question Number : 22 Question Id : 92090615004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla () Esrad
Options :

92090659285. 1
92090659286. 2
92090659287. 3
92090659288. 4

Question Number : 22 Question Id : 92090615004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pandit Shiv Kumar Sharma who passed away in May 2022 was a maestro of:

(1) Flute (2) BSantoor
(3) Tabla (4) Esrad
Options :

92090659285. 1
92090659286. 2
92090659287. 3
92090659288. 4

Question Number : 23 Question Id : 92090615005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Largest Gas pipe line in India is operated by which company?

(1) Relianece Petroleum (2) GAIL
(3) ONGC (4) Bharat Petroleum



Options :

92090659289. 1
92090659290. 2
92090659291. 3
92090659292. 4

Question Number : 23 Question Id : 92090615005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Largest Gas pipe line in India is operated by which company?

(1) Relianee Petroleum (2) GAIL
(3) ONGC {(4) Bharat Petroleum
Options :

92090659289. 1
92090659290. 2
92090659291. 3
92090659292. 4

Question Number : 24 Question Id : 92090615006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following can be recyeled 100%?

(1) Food waste (2) Glass bottles
(3) Alluminium ecans (4) Card board
Options :

92090659293. 1
92090659294. 2
92090659295. 3
92090659296. 4

Question Number : 24 Question Id : 92090615006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be recycled 100%?

(1) Food waste (2) Glass bottles
(3)  Alluminium cans (1) Card board
Options :

92090659293. 1
92090659294. 2
92090659295. 3
92090659296. 4

Question Number : 25 Question Id : 92090615007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52r Amendment of constitution of India

Statement II  :  99th Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but Statement 1l is incorrect

(4) Statement [ is incorrect but Statement 11 is correct

Options :

92090659297. 1
92090659298. 2
92090659299. 3
92090659300. 4

Question Number : 25 Question Id : 92090615007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I ¢ “The Restoration of life of Lok Sabha and State Assemblies to
Syear” is passed in the 52 Amendment of constitution of India

Statement II  : 99t Amendment of constitution of India provides for formation of
National Judicial Appointments Commission”.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 is incorrect
(4) Statement [ is incorrect but Statement 1l is correct
Options :
92090659297. 1
92090659298. 2

92090659299. 3
92090659300. 4

Part B: Physics

Section Id : 920906298
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906483
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090615008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

5 -t =3
Assertion (A) : A given vector F is irrotational i.e., VxF =0.

=3
Reason(R) : The vector F is conservative.

In the light of the above statements, choose the most appropriate answer from
the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090659301. 1
92090659302. 2
92090659303. 3
92090659304. 4

Question Number : 26 Question Id : 92090615008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A< 21 %A fou o F ;v AFU (Assertion (A)) % w9 | foifem 2 @1 gou 3u Fwm
(Reasons (R)) = &9 ¥ :

s (A):  fon e wfem Foaveff 2 sufg VxF =0,
F9 (R) : afew F a2
IR HYF e H, A= fou mo fasedi § | gaw 3age s w wwe fifsw

(1) (A) 3R (R) gF1 5 & 3 (R), (A) i 9t =me 2

(2) (A 3 R) 2 T &, d9fm (R), (A) F wd =ren T4 2
(3) (A T 2, =ifs (R) smme 2

(1) (A) 35 2, afe (R) & 2

Options :
92090659301. 1



92090659302. 2
92090659303. 3
92090659304. 4

Question Number : 27 Question Id : 92090615009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

If 2, and z, are complex numbers

Statement-| arg[j—*]:arg(zﬂ—arg{zz}
2
: . 2 2 =
Statement-ll @ |z +2,[°=|2|° +|2|° - 2Re(2Z;)

In the light of the above statements, choose the correct answer from the options
given below.

1.  Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false
3. Statement-| is correct but Statement-I| is false
4

Statement-| is incorrect but Statement-Il is true

Options :

92090659305. 1
92090659306. 2
92090659307. 3
92090659308. 4

Question Number : 27 Question Id : 92090615009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afy 2, 3 2, Gy Fem &

A
FY41: arg iI=arg|[z1]|—an;;{z-‘;_j
z)

I : |2+2y=|2 P +|z? - 2Re(212)
IR YA & A |, f= fgu mu fawedi 4 3 gag 3w @ w1 == fifaw

(1)  wuA [ 3 12 a1 &
(2) FuF 1 3 11 Ml e 2
(3) HUF 19 2, sifepa oA 11 3197 2

(4) Y9 [ 39 2, €fd sy (1899 2

Options :

92090659305. 1
92090659306. 2
92090659307. 3
92090659308. 4

Question Number : 28 Question Id : 92090615010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I with List=Il :

List List—II
(A) | sinzfor|z|<= R % o i ¢ ) T |
(B) | coszfor|z|<= an | 10 b

(C) | tan™"z for | z| <1 () | (=122 2n -1y
(D) | In(1+2)for|z|<1 ) | (=22 -A)

Choose the correct answer from the options given below :

1. (A=(I1); B)-(III); (C)-(IV); (D)=(1)

2. (A1) (B)=(I1); (C)-(IV); (D)(Il1)

3. (Al (B)(1); (CIHIV); (D)-(IN)

4. (A)(lIny; (B)=(1): (C)=(11); (D}-(IV)
Options :

92090659309. 1
92090659310. 2
92090659311. 3
92090659312. 4

Question Number : 28 Question Id : 92090615010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g1 % @y g=t-11 =1 faem Fifs

g1 Tt-11
(A) sinz % U |z < (I (P22 o oy
(B) cosz % T |z < an (1"'z"in
(C) tan'z % fTU |2 < 1 (I1I) (112271 (2n - 1)!
(D) Inf1+2) % fe |7 <1 (IV) (—1)"12271/(2n - 1)

Hr= feu o fampedi o © ot 3w %1 waw Fifaw

(1) (A)-D), (B)-(I1D), (C)-(IV), (D)-(I)
(2) (A0, (B)-(II), (C)-(IV), (D)-(111)
(3)  (A)-(1D), (B)-(D), (C)-(IV), (D)-(1T)
(4)  (A)-(I1D), (B)-(D), (C)-(1L), (D)-(IV)

Options :

92090659309. 1
92090659310. 2
92090659311. 3
92090659312. 4

Question Number : 29 Question Id : 92090615011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 3 1 1 2 -1
If A={ ; 5} and E={ 3 } what is the value of (2A-3B)7?

0 i
3 1 1 0
R
1 0 5]
2.

a1 1)
[0 1 1]
3.

(1 0 5]
R
4.

1 1 0]

Options :



92090659313. 1
92090659314. 2
92090659315. 3
92090659316. 4

Question Number : 29 Question Id : 92090615011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2% A1 . 1 g )
qﬁﬂ_[u o 5J ms_{ﬂ 4G (2A-3B) &1 O FT 27

110 t D5
(2)

015 0 1

0

.1

B 1
3) [ | (@) DJ

(1)

e

—h
—h

=

on
:___
==

Options :

92090659313.
92090659314.
92090659315.
92090659316.

N O R O R

Question Number : 30 Question Id : 92090615012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The line integral per unit area along the boundary of small area around a point in

vector field ; is called

1. grad A
2. divA
3. cur :ﬂ.

4. line integral A

Options :

92090659317. 1
92090659318. 2
92090659319. 3



92090659320. 4

Question Number : 30 Question Id : 92090615012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreft wfem 4m A # o fag 3 =l 3iR o1y e i wied % v Waw-waa o
Tehish HARe waelTdl 2|

(1) grad A (2 div A
3) curl A (4) line integral A
Options :

92090659317. 1
92090659318. 2
92090659319. 3
92090659320. 4

Question Number : 31 Question Id : 92090615013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 0 <, S . -1 1
lfA:{ 1],.B:{ ]and C:[ D]ThevalueafA+{B+C}is

2 - 4 8 0
1. ik
6 8]
6 71
2.
_3 8_
3. 8 3
_? 5_
& B
4,
_E ?_
Options :

92090659321. 1
92090659322. 2
92090659323. 3
92090659324. 4



Question Number : 31 Question Id : 92090615013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ,r:1=[1 ﬂq‘s=[3 1 i C=[_D1 ;] A+(B+C) FIHA B -

2 S |8
T 8 7
1 2
M [5 BJ @ [3 E}
8 3 (3 8]
(3) [? EJ (4) l6 7/
Options :

92090659321. 1
92090659322. 2
92090659323. 3
92090659324. 4

Question Number : 32 Question Id : 92090615014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the value of div r, if r is the position vector of a particle?

i
o ]

{r =xi +yf + 2k
1 1
2. 2
3. ‘3
4. zero
Options :

92090659325. 1
92090659326. 2
92090659327. 3
92090659328. 4

Question Number : 32 Question Id : 92090615014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a = 5 = ,.H —
afz feedt =m = feufa afew - r:xf+yj+zx|%_.a‘rmw T HH T 27
! g

(1 1 (2) 2
(3 3 (4) I
Options :

92090659325. 1
92090659326. 2
92090659327. 3
92090659328. 4

Question Number : 33 Question Id : 92090615015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If r is the position vector of any point on a surface S that encloses the volume
V, then find [[7.dS.
s

{. AV
2 2V
3 3V
4. 4V
Options :

92090659329. 1
92090659330. 2
92090659331. 3
92090659332. 4

Question Number : 33 Question Id : 92090615015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATV F oftag et gae S 1 afe foedt fag 1 feufa afew ?%.Hﬂ”?-d?ﬁhﬂ—

(n 1V 2 2V
3 3V (4 4V

Options :



92090659329. 1
92090659330. 2
92090659331. 3
92090659332. 4

Question Number : 34 Question Id : 92090615016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An infinite long wire is stretched horizontally 4 m above the surface of the earth.
It has a charge of 1-:0 micro-coulomb (LC) per cm of its length. The value of electric
field at a point on earth vertically below the wire is

1. 4.5 N/C
2. 45.0N/C

3. 45x10° N/C

4. 25x10° N/C

Options :

92090659333. 1
92090659334. 2
92090659335. 3
92090659336. 4

Question Number : 34 Question Id : 92090615016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yeeft 1 HaR H 4 m FU UF i e w1 an dfaea et mn 2 sed vl e
TS W AEN 1.0 H5mI-Femd (UC) B AR % wraed i geEt % fedt fag w faea am

HIHH ? -

(1) 4.5N/C (2) 45.0 N/C

(3) 45x10°N/C (4) 25x10% N/C
Options :

92090659333. 1
92090659334. 2
92090659335. 3
92090659336. 4

Question Number : 35 Question Id : 92090615017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct sequence of the four statements given below, so that the
phrase makes a complete sense:

A. Then the sets of equations connecting both are known as transformation of
co-ordinates.

B. We can associate a unique set of co-ordinates.
C. Given a point P in rectangular co-ordinates.
D. Called the curvilinear co-ordinates of P.

Choose the correct answer from the options given below.

1. (A). (B). (C). (D)

2. (B), (C), (D), (A)
3. (C).(B), (D), (A)
4. (B), (A), (D). (C)
Options :

92090659337. 1
92090659338. 2
92090659339. 3
92090659340. 4

Question Number : 35 Question Id : 92090615017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= fou o = m syl w1 wdt wa g e e s s o -
(A) @i @i Sired 9T gt % gy #1 e w1 s wed 8
(B) ot srfgdfra Fomsi & oy =t g9g #2 whd &)

(C) AR fFewmehi 3 i fag P fan 2

(D) P =shudl e Heam g

dr= feu mu famseai A @ 9t I %1 979 Hifau

(1) (A), (B), (C). (D)
(2)  (B), (C), (D), (A)
(3 (C), (B), (D), (A)
(4)  (B), (A), (D), (©)

Options :

92090659337. 1
92090659338. 2
92090659339. 3
92090659340. 4

Question Number : 36 Question Id : 92090615018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The general form of a central force is represented by F= Eﬂf (C = constant)

known as Inverse Power law. ’
A. The force represented by above equation will be attractive if C < 0.
B. The force represented by above equation will repulsive if C < 0.
C. The force represented by above equation will be repulsive if C = 0.
D. The force represented by above equation will be attractive if C > 0.
Choose the correct answer from the options given below.

1. AandB only

2. BandC only

3. AandC only

4. AandD only

Options :

92090659341. 1
92090659342. 2
92090659343. 3
92090659344. 4

Question Number : 36 Question Id : 92090615018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



¥ we = =9 2 F - C 7 el C us Friar 21 38 wfieim amed frm wa 3

r
(A) 39t gfteR g frefre as sedw = 2 afe C < 0.
(B) 3Iwe g gy FEfre aw gfasdw %1 8 afe C < 0.
(C) Ivtraa gt g1 Frsfim &= wfdsdo =61 2m afe € > 0.
(D) It gteRm g Frefra ae sredo = 2moafe C > 0.

Fr= feu v fawregt 4 @ ot 3w = 9w Fifa
(1) e (A) 3R (B)
(2) == (B) 37 (O)
(3) wFad (A) 3R (O)
(4)  Fa (A) IR (D)

Options :

92090659341. 1
92090659342. 2
92090659343. 3
92090659344. 4

Question Number : 37 Question Id : 92090615019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are three planets in circular orbits around a star at a distance a, 9a and
16a respectively. Attime f =t,, the star and the planets are in a straight line. The

period of revolution of the closest planet is T. How long after f;, will they again
be in the same line?

. 218°T

2. 2T

3. 1728 T

4. 3456 T
Options :

92090659345. 1
92090659346. 2
92090659347. 3



92090659348. 4

Question Number : 37 Question Id : 92090615019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fordft @t % = 3 g wE § f9 u2 FEw: a, 9a 3 16a gft w #| fedt ww
t=ty, T AR 3R = a7 v et T g ) Fereas a8 #1 afeean w@ TRt % feaA
Y v a1 3R A= 1 [ wE i g w5y

() 216T (2 512T
(3) 1728 T (1) 3456 T
Options :

92090659345. 1
92090659346. 2
92090659347. 3
92090659348. 4

Question Number : 38 Question Id : 92090615020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the expression for moment of inertia of a rectangular lamina (ABCD
having length / and breadth b) about an axis passing through one of its corners
and perpendicular to its plane?

A B
M G b
D c

M9 .9
1. f_ml:l' +b*)

2 2
R N
1276

2 2
5 I=M ’—+b—J
6 12

Options :



92090659349. 1
92090659350. 2
92090659351. 3
92090659352. 4

Question Number : 38 Question Id : 92090615020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fordt sAEER Ted (ABCD famdh @ | 3 <2l b ), 36 U &H 8, 796 &
o oA a6l 4 6 A TS -3Te %1 9w 1w

A B

-0 |b

D ; &
i ;:%“2”’23' 2) ::Mz%+§:
(3) F:M‘:%+%] (4) I:%UEHJE}

Options :

92090659349. 1
92090659350. 2
92090659351. 3
92090659352. 4

Question Number : 39 Question Id : 92090615021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List- List-lI
(A) | Green's theorem (I) | Moment of inertia
(B) | Kepler's laws (Il) | Vectors
(C) | Theorem of parallel and (111) | Inertia
perpendicular axes
(D) | Newton's law (IV) | Motion of planets

Choose the correct answer from the options given below :
1. (A(); B)=(1): (C)~(1); (D)}-(1V)
2. (Ay=(I); (B)=(1): (CH-(IV): (D)-(1)
3. (A(I); (By=(IV): (C)=(1): (D)-(liT)
4. (A-(IV): (B)=(IN); (C)(1); (D)-(M)

Options :

92090659353. 1
92090659354. 2
92090659355. 3
92090659356. 4

Question Number : 39 Question Id : 92090615021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gqet-1 % = gt-11 =1 faerm $ifo

g1 -1
(A) ¥ W (I) Feea-Fmel
(B) =i & fram (1) ofem
(C) oot 3R wfierseq w1s (1) 92
EaR D
(D) =A =1 Fm (IV) W&l = 7ifq

H= feu mu ot d @ 9t T =1 99 Sifeu

(1) (A1), (B)-(I11), (C)-(1I), (D)-(IV)
(2)  (A)-(IID, (B)-(ID), (C)-(1V), (D)-(T)
(3)  (A)-aD), (B)-(IV), (C)-(I), (D)-(1LL)
(4)  (A)-(V), (B)-(I1D), (C)-(@), (D)-(1I)

Options :

92090659353. 1
92090659354. 2
92090659355. 3
92090659356. 4

Question Number : 40 Question Id : 92090615022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gravitational force between two masses my and m», separated by a distance r
is

central force

non-central force

attractive force

repulsive force

moompe

directly proportional to the distance between m; and m.,

Choose the correct answer from the options given below.

1. Aonly
2. Bonly
3. AandC only
4. D and E only

Options :



92090659357. 1
92090659358. 2
92090659359. 3
92090659360. 4

Question Number : 40 Question Id : 92090615022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fordi 2t oMMl my AR m, Fomes a2 r 2, % nen o aTen EETE A 2
(A) HEE e

(B) 3h=E &
(C)  3TRET a5
(D) ufd=dm &e

(E) my 3R m, % == gt % garuwd 2

fr feu o femredi § @ @t 3w =81 =9 Fifs
(1) e (A)

(2) %= (B)

(3) Hae (A) 31 (C)

(4) =Fa (D) 31 (E)

Options :

92090659357. 1
92090659358. 2
92090659359. 3
92090659360. 4

Question Number : 41 Question Id : 92090615023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bullet of mass 10 g moving horizontally with a speed of 500 m/s passes through
a block of wood of mass 1 kg, initially at rest on a frictionless surface. The bullet
comes out of the block with a speed of 200 m/s. What is the final speed of
the block?

. ©

2. 1m/s

3. 2mis

4. 3m/s
Options :

92090659361. 1
92090659362. 2
92090659363. 3
92090659364. 4

Question Number : 41 Question Id : 92090615023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10 g =M 61 o Meft 500 m/s $t =1 8 @fas nfa @ g0 1 kg FoWH F TF 6L
% ek H el 2 9 e | Tt admfaa wae e | w@n s 2) efl e |
200 m/s <1 =1 & are Freheret 21 ek i sAf=m =me w0 27

(1) O (2) 1mis
(3) 2m/s (4) 3m/s
Options :

92090659361. 1
92090659362. 2
92090659363. 3
92090659364. 4

Question Number : 42 Question Id : 92090615024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What will be the spring constant of a spring? When it is streched 10 cm,
it has potential energy of 5600 J.

1. 1.12N/m

2. 11.2N/m

3. 1.12x10% N/m

4. zero
Options :
92090659365. 1
92090659366. 2
92090659367. 3
92090659368. 4

Question Number : 42 Question Id : 92090615024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frdt fam =1 10 om === w, 39 feafas == 5600 J 2, &1 fam =1 f&m feEms =

EAT 7

(1) 1.12N/m (2) 11.2N/m
(3)  1.12x10% N/m (1) I
Options :

92090659365. 1
92090659366. 2
92090659367. 3
92090659368. 4

Question Number : 43 Question Id : 92090615025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The work done in a gravitational field between two points does not depend upon
the path between these points. The field

1. can be conservative or non-conservative
2. is conservative

3. is non-conservative
4

MNature of field can not be determined

Options :

92090659369. 1
92090659370. 2
92090659371. 3
92090659372. 4

Question Number : 43 Question Id : 92090615025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & d fedl g1 famgadl & e e o v 39 famgant & wew vy W fasi 7 @
2l &

(1) Tl styan a8 o 2| (2) waf 2
(3)  areaft 2 (4) &= i whfa Fruffa 78 6t sn Tt
Options :

92090659369. 1
92090659370. 2
92090659371. 3
92090659372. 4

Question Number : 44 Question Id : 92090615026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two bodies of different masses are moving with the same kinetic energy. Which
one has a greater momentum?

1. Body of greater mass will have the greater momentum

2. Body of lighter mass will have the greater momentum

3. Both bodies will have same momentum

4. Depending on initial conditions any body can have greater momentum
Options :

92090659373. 1
92090659374. 2
92090659375. 3
92090659376. 4

Question Number : 44 Question Id : 92090615026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fia-fim gemml % i g1 fzi &t nfos w3t @am 21 fee fg =0 gem sl 27

(1) 1fies gegam & g %1 gan srfass arm)

(2) =4 F=EE & fi2 %1 gan i g

(3) g o=t %1 g guE g

(4)  wnferen gmal w i e 2 fedt Wt fie = germ stfass 2 oeean 2

Options :

92090659373. 1
92090659374. 2
92090659375. 3
92090659376. 4

Question Number : 45 Question Id : 92090615027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the earth suddenly contracts to half its radius, what would be the length of
the day?

1. Remain the same

2. 6 hours

3. 12 hours

4. 18 hours
Options :

92090659377. 1
92090659378. 2
92090659379. 3
92090659380. 4

Question Number : 45 Question Id : 92090615027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afy gedt @5t e s 8 gefaa #e ot Bren 6 st & el R, @ s fam A
TS 1 B 7

(1)  ouE @il (2) 6 hours
(3) 12 hours (4) 18 hours
Options :

92090659377. 1
92090659378. 2
92090659379. 3
92090659380. 4

Question Number : 46 Question Id : 92090615028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The angular speed of a motor wheel is increased from 1200 r.p.m. to 3120 r.p.m.
in 16 s. What is its angular acceleration?

1.  m rad/s?
2. 2n radls?
3. 3n rad/s?
4.

47 rad/s?

Options :

92090659381. 1
92090659382. 2
92090659383. 3
92090659384. 4

Question Number : 46 Question Id : 92090615028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feredt wret = ufgw &1 ®fig @1er 4 16 s 9 1200 r.p.m. & 3120 r.p.m. #i gz 21 sl
2| 3Eh1 HOE =0 =BT

(1) & rad/s? (2) 2 rad/s?
(3) 3= rad/s? (4) 4x rad/s®
Options :

92090659381. 1
92090659382. 2
92090659383. 3
92090659384. 4

Question Number : 47 Question Id : 92090615029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l : Incase of bi-prism, the coherent sources are produced by the
phenomenan of refraction.

Statement-Il : In case of Llyod mirror, coherent sources are produced by the
phenomenon of reflection.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-ll are false

3. Statement-l| is correct but Statement-ll is false

4. Statement-l is incorrect but Statement-ll is true
Options :

92090659385. 1
92090659386. 2
92090659387. 3
92090659388. 4

Question Number : 47 Question Id : 92090615029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fr< 21 e feu mo E

A [ f2-frew d, e gag 99 sadq & sftgen g 379= feu @ )
Fe [1; w1ag i |, shetl 992 | Waad =l TiEe gr 3099 fhu = 7

IQNF HUA * A H, A= By M fawedi 4 9 gen 39y 39w 994 Fif

(1) =94 [ 3 11 21 5d) 3
(2) A [ 3 1Ll Terd @
(3) A [ H8 2, wfE %A 11 e 2
(4) A 17eE 2, sifed Fua 1 a8 2

Options :

92090659385. 1
92090659386. 2
92090659387. 3
92090659388. 4



Question Number : 48 Question Id : 92090615030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If two simple harmonic motions having angular frequency 440 rad/s and
396 rad/s are superimposed, what will be the number of beats produced?

1. 5beats/s

2. 6 beats/s

3. 7 beats/s

4. 8 beats/s
Options :

92090659389. 1
92090659390. 2
92090659391. 3
92090659392. 4

Question Number : 48 Question Id : 92090615030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg g1 \re smEd nfodi wifi Agha wwe: 440 rad/s 31 396 rad/s =1 wEmiftE fem
ST B Al Iead feredgl <6t T wn Enfi v

(1) 5 beats/s (2) 6 beats/s
(3) T beats/s (4) 8 beats/s
Options :

92090659389. 1
92090659390. 2
92090659391. 3
92090659392. 4

Question Number : 49 Question Id : 92090615031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What will be the separation between the coherent sources formed by a bi-prism
whose inclined faces makes an angle of 2° with its base, the slit source being
0.10 m away from the bi-prism (Given u = 1.5)?

1. 1.5mm

2. 25mm

3. 3.5mm

4. 45mm
Options :

92090659393. 1
92090659394. 2
92090659395. 3
92090659396. 4

Question Number : 49 Question Id : 92090615031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feeeit fofirem g 3w %o deg @61 % nea gt w0 Evfi e e T smam @ 20w
& & & o Bl wa e g olomAi g (Fan @ u=15)

(1) 1.5mm (2) 2.5 mm
3) 3.5mm (4) 4.5 mm
Options :

92090659393. 1
92090659394. 2
92090659395. 3
92090659396. 4

Question Number : 50 Question Id : 92090615032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A grating has 15 cm of the surface ruled with 6000 lines per cm. What is the
Dispersive power of grating at the angle of # =60° in the first order?

1.  B000 rad/m
20000 rad/m
8000 rad/cm

sl

2000 rad/cm



Options :

92090659397. 1
92090659398. 2
92090659399. 3
92090659400. 4

Question Number : 50 Question Id : 92090615032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferdt ufém 61 15 cm 1 @98 | 6000 < wfa ey Ei=t M2 21 ufdn i yum e o
faardi aman @ 27

(1) 8000 rad/m (2y 20000 rad/m
(3) 8000 rad/cm (4) 2000 rad/ecm
Options :

92090659397. 1
92090659398. 2
92090659399. 3
92090659400. 4

Question Number : 51 Question Id : 92090615033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Lissajous figure of two rectangular SHMs of equal frequency and phase
difference of 7/, is

1.  straight line

2. circle

3. ellipse

4.  parabola
Options :

92090659401. 1
92090659402. 2
92090659403. 3
92090659404. 4

Question Number : 51 Question Id : 92090615033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
FHA A 3 A 24 R @ AEEER SHMs i ferr i srgfa 21

(1) = (2) 94
(3) T (4) TEe
Options :

92090659401. 1
92090659402. 2
92090659403. 3
92090659404. 4

Question Number : 52 Question Id : 92090615034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the phase change for a light of wavelength 5000 A, passing through
a glass plate, if the refractive index of the glass plate is changed from
g =1.5418to 4 =1.5508 .

1. 3.14 radian

2.  B6.28 radian

3.  36.17 radian

4. 3.617 radian
Options :

92090659405. 1
92090659406. 2
92090659407. 3
92090659408. 4

Question Number : 52 Question Id : 92090615034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0.032 mm Hi& F= i @2 d 5000 A FOTeH F YHE Hi (AR T FHell Hed 71 & I=
foh JuEAI® 4y =1.5418 ATEl i hl T Hl HUGTTH 4 =1.5508 el Hia FH w2 H

wee fon mn 27

(1) 3.14rad (2) 6.28 rad
(3) 36.17 rad (4) 3.617 rad

Options :



92090659405. 1
92090659406. 2
92090659407. 3
92090659408. 4

Question Number : 53 Question Id : 92090615035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Angular width of central maxima of a diffraction pattern of a single slit does not
depend upon

1.  wavelength of light

2. frequency of light

3. distance between slit and source
4

width of the slit

Options :

92090659409. 1
92090659410. 2
92090659411. 3
92090659412. 4

Question Number : 53 Question Id : 92090615035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uehet ot faada B & =i afass i winfig e Fnf =8 =t 21

(1) W % qoTe (2) W i Efa
(3) @ 3 farlt % €= gh (4) fartt i e
Options :

92090659409. 1
92090659410. 2
92090659411. 3
92090659412. 4

Question Number : 54 Question Id : 92090615036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Lissajous figure may be a straight line if the phase difference is

1. Oorn

2. nl/4

3. w2

4. w3
Options :

92090659413. 1
92090659414. 2
92090659415. 3
92090659416. 4

Question Number : 54 Question Id : 92090615036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feramsy i smpfa v e T A gedl @ 3fe wem 2

(1) 03AYE = (2) n/4
(3) m2 (4) /3
Options :

92090659413. 1
92090659414. 2
92090659415. 3
92090659416. 4

Question Number : 55 Question Id : 92090615037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If I is the intensity of the principal maxima in a single slit diffraction pattern, then
what will be its intensity when the slit width is doubled?

i: I
3 i
3 2k

4. 4l



Options :

92090659417. 1
92090659418. 2
92090659419. 3
92090659420. 4

Question Number : 55 Question Id : 92090615037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

whel Tl foada ted 4 afe %= 3fas 6t fiwar 1) 2 @ fl 6 = g e o
fferan fepet 2nfi 7

(1) 1,2 (2) I
(3) 21 (4) 41,
Options :

92090659417. 1
92090659418. 2
92090659419. 3
92090659420. 4

Question Number : 56 Question Id : 92090615038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The kinetic energy of a particle executing simple harmonic motion is
maximum at equilibrium position
. constant

A
B
C. minimum at extremes positions
D. zero
E

negative
Choose the correct answer from the options given below.

1.  Aand C only

2. Bonly

3. CandDonly

4. Eonly
Options :

92090659421. 1



92090659422. 2
92090659423. 3
92090659424. 4

Question Number : 56 Question Id : 92090615038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HqTe e M Fd 7y e w0 i nfas s 2

(A) g feufa d sifusan
(B) fem

(C) Tt = feafa w0 =prem

(D) =

(E) =UmeHsh

Hra feu o fomreui 4 | adt 3w = 999 Hife
(1) =Haa (A) F(C)

(2) % (B)

(3) =aa (C) 3 (D)

(4) e (B)

Options :

92090659421. 1
92090659422. 2
92090659423. 3
92090659424. 4

Question Number : 57 Question Id : 92090615039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



s = T
Given AxB=C,

—+ - - - —3 - - - —+ - -
Where A=xi+yj+3k, B=yi+xj+2k, C=-5i +5k

Find the value of x and y
1. x=2 y=3
2. x=3, y=2
3 =x=1y=3
4., x=2 y=1

Options :

92090659425. 1
92090659426. 2
92090659427. 3
92090659428. 4

Question Number : 57 Question Id : 92090615039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

Elﬁ AxB=0C, z1=.rr7—_1§+3.ﬂ;‘, H=_}'r:—1;;+2|ﬂ‘. C = -5i + 5k

x 3N v =Rl HIA
(1) =xz=2y=3 (2) z=3 v=2
(3) x=1 y=3 4) x=2 v=1

Options :

92090659425. 1
92090659426. 2
92090659427. 3
92090659428. 4

Question Number : 58 Question Id : 92090615040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Figure shows Fraunhofer's diffraction due to a single slit. If first minima
is obtained in the direction shown, then the path difference between ray 1

andray 3 is
1
2
3

\:J L

1. M3

2. M2

3. K

4. Zero
Options :

92090659429. 1
92090659430. 2
92090659431. 3
92090659432. 4

Question Number : 58 Question Id : 92090615040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dre femn e Faa v Tt weEe faadR gwten 21 afe wem fAferss goid w8 feen o wm
foran e &, & o 1 3 3 % wew gyt 2

-

(1) A3 (2) A2
3 A @) =
Options :

92090659429. 1
92090659430. 2
92090659431. 3
92090659432 4

Question Number : 59 Question Id : 92090615041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the given question, choose the correct sequence of four statements given
below :

A. It was found that the charge determined in each case

B. Which reveals that charge is quantised

C. When the experiment was repeated for a number of times

D. Woas an integral multiple of elementary charge.

Choose the correct answer from the options given below.

1. (A), (B), (D), (C)

2. (C).(A), (D). (B)

3. (D). (B) (A), (C)

4. (C).(A) (B), (D)
Options :

92090659433. 1
92090659434. 2
92090659435. 3
92090659436. 4

Question Number : 59 Question Id : 92090615041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= feu v = w wuAl = wd w9 g
(A) T8 9rn T T wmaw v feufa o fatfe e mm

(B) =it giar 2 foh swraw w=idied 21
(C) @ YN i %3 & SrE0an 13|

(D) | AT H U O 41|

He feu o fawedi § 9 g8 I @ 999 i

(1) (A), (B), (D), (C)
2 (0), (A), (D), (B)
(3) (D), (B), (A).(C)
(4)  (C), (A), (B), (D)

Options :

92090659433. 1
92090659434. 2
92090659435. 3
92090659436. 4

Question Number : 60 Question Id : 92090615042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statements—| : Important characteristic of electromagnetic wave is that it can
transport energy from one point to another point.

Statements—Il : The direction of electromagnetic wave at a given point is the
direction in which energy is being transmitted.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true
2. Both Statement-| and Statement-Il are false
3. Statement-| is correct but Statement-ll is false

4.  Statement-| is incorrect but Statement-Il is true

Options :



92090659437. 1
92090659438. 2
92090659439. 3
92090659440. 4

Question Number : 60 Question Id : 92090615042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 9 o fem e

wYd 1 :  deagradE a6l g faued 2 6 97 uF e 8@ g T 9% Fal 98
ekl 2

w11 : e fou mu fog W Sgagradm oo 6 fom 97 fom 2 foow wai g=f@
&t 21

IYAh Y & A 4, = feu o fawedt | @ geg swgw I e w9e fif

(1) %94 [ 3 11 2Ht ot 2
(2) %A 1 3 11 EHi Tera &
(3) YA 19d 2, dfea =y 11 Terd 2
(4) YT 1 7ed 2, dfha Fya 1198 2

Options :

92090659437. 1
92090659438. 2
92090659439. 3
92090659440. 4

Question Number : 61 Question Id : 92090615043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

—
The relative magnitude of H in a plane wave is 1Am 1. What will be the

magnitude of E for a plane wave in free space?
1. 3760 Vim
2 3.760 Vim
3. 37.60Vim
4

376.0 VIm



Options :

92090659441. 1
92090659442. 2
92090659443. 3
92090659444. 4

Question Number : 61 Question Id : 92090615043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁatﬁmaahﬁﬁaﬂaﬁammm”%qmunﬂﬁwah%ﬁmw
1 B 7

(1) 3760 Vim (2) 3.760 Vim
(3) 37.60 Vim (4) 376.0 Vim
Options :

92090659441. 1
92090659442. 2
92090659443. 3
92090659444. 4

Question Number : 62 Question Id : 92090615044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If magnetic monopole existed, then which of the following Maxwell's equations
will be modified?

1. divD=p
2. divB=0
3. eun E: - (‘—E
at
4. curl §=j-+ i——D-
[
Options :

92090659445. 1
92090659446. 2
92090659447. 3
92090659448. 4



Question Number : 62 Question Id : 92090615044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe Sahr v yd w1 Afeaea g, a1 Feafofes deee % aftson 4 9 e afimo =
gftafda

AT T2 7
1 divD=p @2 divB=0 .
(3) cur E-. £e (4) curl J‘?:jq f:_,
ot o
Options :

92090659445. 1
92090659446. 2
92090659447. 3
92090659448. 4

Question Number : 63 Question Id : 92090615045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When a charge particle moves in a uniform magnetic field, its kinetic energy
1. goes on increasing
2. goes on decreasing
3. remains unchanged
4.

may increase or decrease depending upon the sign of charge

Options :

92090659449. 1
92090659450. 2
92090659451. 3
92090659452. 4

Question Number : 63 Question Id : 92090615045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W& U AT HO Uk GHE gEehi &3 | i st 2, 79 st nfas Fal |

(1) gfg 2wt 5w 21
(2) = B S 2
(3)  wwfEfda wd 2

(1) HEW & o W AW =9 92 31 52 g1 2

Options :

92090659449. 1
92090659450. 2
92090659451. 3
92090659452. 4

Question Number : 64 Question Id : 92090615046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The relative permittivity of distilled water is 81. What is the velocity of light in the
distilled water?

1. 1.1x107 mis
2. 22x107 m/s
3. 3.3x10" m/s

4. 3x10% m/s

Options :

92090659453. 1
92090659454. 2
92090659455. 3
92090659456. 4

Question Number : 64 Question Id : 92090615046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHA e 1 TS T 81 8| ATHA S § WHT AT F=h a7

(1)  1.1x107 m/s (2) 2.2x107 m/s
(3) 3.3x10" m/s (1) 3x10® m/s
Options :

92090659453. 1



92090659454. 2
92090659455. 3
92090659456. 4

Question Number : 65 Question Id : 92090615047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  All points inside a charged hollow spherical conducting sphere
are at equal potential.

Reason (R) : The electricfield inside a charged hollow spherical conducting
sphere is non-zero.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is true but (R) is false
4.

(A) is false but (R) is true

Options :

92090659457. 1
92090659458. 2
92090659459. 3
92090659460. 4

Question Number : 65 Question Id : 92090615047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4149 @1 %= fou o & - w AU (Assertion (A)) % w9 d feiflad 2 a1 gou 3ge wrm
{(Reasons (R)) HFEIY :

sy (A) . Frft smEfE @rge e T ww % e aft et w fava
qaH 21

F (R) : fodt et Erae e W & Jia faga o = 2
ITE YA+ Hierh |, A= feu o fawedi § @ gaw 3ugw W w1 994 Fifaw

(1) (&) 3 (R) 3 =@t € 3 (R), (A) i w8 =men 2

(2) (W) 3 (R) g1 =@ E, @l (R), (A) 1 wét =men @ 2
(3) (M) T R, @ (R) 7 78 2

(4) (A =@ T 2, A (R) d 2

Options :

92090659457. 1
92090659458. 2
92090659459. 3
92090659460. 4

Question Number : 66 Question Id : 92090615048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The time period of oscillation of the charge in a circuit containing inductance (L)
and capacitance (C) only is

1
1. —
2m4/LC
5 2n
- JLC
3 SJLC
L 2n
4. 2mfLC
Options :

92090659461. 1
92090659462. 2
92090659463. 3
92090659464. 4



Question Number : 66 Question Id : 92090615048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UF W (L) 3R v qurie g g (C) 8, g9 foem iy § smaw & @ =

IR 2

1 3 2m
(1) 2ndlC (2) Jic
(3) “’rf (4) 2mfLC
Options :

92090659461. 1
92090659462. 2
92090659463. 3
92090659464. 4

Question Number : 67 Question Id : 92090615049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The self-inductance of a solenoid is
1. directly proportional to the current in the solenoid
2. inversely proportional to the length of the solenoid
3. directly proportional to the cross-sectional area of the solenoid
4

inversely proportional to the cross-sectional area of the solenoid

Options :

92090659465. 1
92090659466. 2
92090659467. 3
92090659468. 4

Question Number : 67 Question Id : 92090615049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ferelt afanfe =1 =-Uhe 2

(1) wienfes § gm % FeEar

(2) wienferm =i ovarE % SRR

(3)  ulrTferst = HTIEY I+ HARA ® GHEITA
(4) aftTfeTet 3 Y FE % FAEA 5 FEhaHI!

Options :

92090659465. 1
92090659466. 2
92090659467. 3
92090659468. 4

Question Number : 68 Question Id : 92090615050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solenoid of length 30 cm is wound uniformly with 3000 turns of wire. The wire
carries a current of 10 A. What is the value of B on the axis within the solenoid?
[ =4nx10~" T m/A]

1. 0126T

2. 1267

3. 1267

4. 0T
Options :

92090659469. 1
92090659470. 2
92090659471. 3
92090659472. 4

Question Number : 68 Question Id : 92090615050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et aftfersst st 30 cm o=mg § 9” % 3000 Us §9F & &1 97 ° YaifEd 96 1 °E
10 A 2| ofefert & sfier 515 W Sab &9 B F WH F 2?7 [ug =4nx107 T m/A]

1 0126T @ 126T
@) 126T @ 0T



Options :

92090659469. 1
92090659470. 2
92090659471. 3
92090659472. 4

Question Number : 69 Question Id : 92090615051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be potential and field due to a dipole of dipole moment 4.5x107'° Cm
at a distance from 1 m from the center of the dipole along its axis?

1. 4.05Vand 8.1 Vim

2. 4.05Vand10.1 Vim

3. 6.05Vand8.1Vim

4. 6.05Vand10.1 Vim
Options :

92090659473. 1
92090659474. 2
92090659475. 3
92090659476. 4

Question Number : 69 Question Id : 92090615051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

u A faya fome faga smol 45x1071%Cm 21 5% = fgya & %5 @ 3w &
srfenr 1 m i gft w fava wd forga & &1 W w0 Ay

(1) 4.05V 3 8.1V/m (2) 4.05V 3 10.1 V/m
(3) 6.05V3m8.1V/m (4) 6.05V 3 10.1 V/m
Options :

92090659473. 1
92090659474. 2
92090659475. 3
92090659476. 4

Question Number : 70 Question Id : 92090615052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor consists of two square metal plates 5.0 cm of side
and separated by 1 cm. A sulphur slab of thickness 5 mm is placed on the
lower plate. What will be the capacitance of the capacitor? (Dielectric constant of
sulphur = 4)

1. 25x10° 12 F
2 35x10°12F
3. 45x10°12 F
4. 55x10712 E

Options :

92090659477. 1
92090659478. 2
92090659479. 3
92090659480. 4

Question Number : 70 Question Id : 92090615052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forel gwie oz darfa 4 2 anfsr 5.0 cm o @l ol 9fgw 1 em gft w
T % 5 mm AR i vF geR f wm P oftm w ol w2 gurfe f e =
Bl 7

(TRt 1 FUAaTS = 4)

(1) 25x10712F (2) 35x1072 F
(3) 45x102F (1) 55x10° 2 F
Options :

92090659477. 1
92090659478. 2
92090659479. 3
92090659480. 4

Question Number : 71 Question Id : 92090615053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The change in entropy (AS) for a reversible adiabatic process is

1. AS=0
2. AS=0
3. AS<
4. AS>0and AS<0

Options :

92090659481. 1
92090659482. 2
92090659483. 3
92090659484. 4

Question Number : 71 Question Id : 92090615053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fereil 3erqeia wgumry wse o vgrdt (AS) d qiEdy 2

(1) AS=>0 (2) AS=0
(3) AS<O (1) AS>0 3 AS<D
Options :

92090659481. 1
92090659482. 2
92090659483. 3
92090659484. 4

Question Number : 72 Question Id : 92090615054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The r.m.s. speed of hydrogen atom at room temperature (300 K) is 2000 m/s.
What is the r.m.s. speed of hydrogen atom on the surface of sun where

temperature is T =2x 10° K ?

1. 164 mis

2. 1640 m/s

3. 164000 m/s

4. 16400 m/s
Options :

92090659485. 1
92090659486. 2
92090659487. 3
92090659488. 4

Question Number : 72 Question Id : 92090615054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferelt Zrgrem wmm 1 # % aeEE (300 K) 9t r.m.s. =1 2000 m/s 21 34t 2rEgeE
A 6 g ) gaE W r.m.s. 9 01 a7 a6 amaE T =2x108K 27

(1) 164 m/s (2) 1640 m/s
(3) 164000 m/s (4) 16400 m/s
Options :

92090659485. 1
92090659486. 2
92090659487. 3
92090659488. 4

Question Number : 73 Question Id : 92090615055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Fermi-Dirac statistics, the particles are

1. indistinguishable and obey Pauli exclusion principle with half integer
spin angular momentum

2. indistinguishable with integral spin angular momentum
3. distinguishable with integral spin angular momentum

4. indistinguishable and do not obey Pauli exclusion principle

Options :

92090659489. 1
92090659490. 2
92090659491. 3
92090659492. 4

Question Number : 73 Question Id : 92090615055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wHi - ferrr Aiferh d %0 3

(1) aifasga 3in wEel swes fagma & @1y 318 quiis =0 Hfg G977 &1 9er
w1 2

(2)  FAEIUIH U HIIE I 5 A1y AfaHgm|
(3) T =h0 ivfia Ham % Ty favgm
(4)  wfavgm 3 wsel e fagra &1 w98 w5

Options :

92090659489. 1
92090659490. 2
92090659491. 3
92090659492. 4

Question Number : 74 Question Id : 92090615056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the relation between Boyle temperature (Tg) and critical temperature
(Tc) of agas?

27
1. Tg="T;
B g C
8
2. 2Tg=—T,
B 27 C
3
3. Tg==iT,
B 7 c

4. 3Tg=2T¢

Options :

92090659493. 1
92090659494. 2
92090659495. 3
92090659496. 4

Question Number : 74 Question Id : 92090615056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fereit e % wiae @ (Tg) 3 #if= @M (7o) § &0 gag 27

27 ; 8
1) =il i R,
( a=lg (2) 2Tg =i
’ 3
(3) Tg= 5 Tc (1) 3Tg=2T¢

Options :

92090659493. 1
92090659494. 2
92090659495. 3
92090659496. 4

Question Number : 75 Question Id : 92090615057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the change in entropy when 10 g of ice at 0 °C is converted into water at
the same temperature? The latent heat of ice is 80 callg.

1. OcalK

2. 2.93callK

3. 293 calK

4. 293 callK
Options :

92090659497. 1
92090659498. 2
92090659499. 3
92090659500. 4

Question Number : 75 Question Id : 92090615057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 10 g, 0 °C M W &% 35 419 & el § FIAHA 2l 2 79 IFh] Ugrdt § F: qiadq
#mm 7 &% &1 7 3w 80 callg 1

(1) OcalK (2) 2.93 callK
(3) 29.3callK (4) 293 cal/lK
Options :

92090659497. 1
92090659498. 2
92090659499. 3
92090659500. 4

Question Number : 76 Question Id : 92090615058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Five Carnot engines operate between reservoir temperatures of

A. 100 Kand 500 K
B. 200 K and 500 K
C. 400 K and 500 K
D. 200 K and 800 K
E. 200 Kand 400 K
Arrange the engines according to their decreasing efficiencies.

Choose the correct answer from the options given below.
1. B.C.D.AE
2. ADB,EC
3. ABCDE
4. A/EBCD

Options :

92090659501. 1
92090659502. 2
92090659503. 3
92090659504. 4

Question Number : 76 Question Id : 92090615058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9ia BT 39 &9 & T % Hed TRETeE i 8 3 91 &) gedt gt amaa & wa °
ferfigu:

(A) 100 K 37 500 K
(B) 200 K 3 500 K
(C) 400 K 3 500 K
(D) 200K 3 800 K

(E) 200 K 3 400 K

e feu mu fawedi | 9 9 I W wEe it -

(1) (B). (C), (D), (A), (E)
(2) (&), (D), (B). (), (C)
(3) (&), (B), (C), (D), (E)
(4) (&), (E), (B), (C), (D)

Options :

92090659501. 1
92090659502. 2
92090659503. 3
92090659504. 4

Question Number : 77 Question Id : 92090615059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C; and C, represent the specific heat of a liquid and its saturated vapour where-
as L is latent heat of vaporization. (T is the temperature) The correct option is

d. L
1. CZ—C1=E—?
3 Gttt
dr T
dL L
3. C1+CE=E—?

4. c,,+cz=%+$



Options :

92090659505. 1
92090659506. 2
92090659507. 3
92090659508. 4

Question Number : 77 Question Id : 92090615059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fe €y, Cp, L 3 T © Hefea ga fou mu & fomd ¢; 3 ¢, #w9: 79 vd 35l dgn am
< fafre Fem, Ty 6 Fem s 7oA ) wd faeee 2

da. L d. L
1) Bl e 8y feE oSt
(F M=y B G-Corgrty

a. L dL L
ST T T 1 Ciac, o9t L
@) Ci+Co=r-7 @) C+C=gr+y
Options :

92090659505. 1
92090659506. 2
92090659507. 3
92090659508. 4

Question Number : 78 Question Id : 92090615060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Bose-Einstein distribution is applied on
1. identical, distinguishable particles

2. identical, indistinguishable particles that do not obey exclusion
principle

3. |dentical, indistinguishable particles which obey exclusion principle

4. distinguishable particles which obey exclusion principle.

Options :

92090659509. 1
92090659510. 2
92090659511. 3
92090659512. 4

Question Number : 78 Question Id : 92090615060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T - 3EaerEA faamn v fon wman 2

(1) ==, faves =i @

(2) =, sfaves s W S vEeA g =1 TeE T8 w1 B
(3) i, sfaden s w S wvEsq fag= w1 OeE w11 #
(4) Tavem =i w1 svaeA fag= = Tem 1. 2

Options :

92090659509. 1
92090659510. 2
92090659511. 3
92090659512. 4

Question Number : 79 Question Id : 92090615061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Staternent-| : Law of conservation of momentum is invariant to Galilean
transformation.

Statement—Il : Law of conservation of energy is invariant to Galilean
transformation.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|| are true
2. Both Statement-| and Statement-Il are false
3. Statement-| is correct but Statement-I| is false

4.  Statement-l| is incorrect but Statement-Il is true

Options :

92090659513. 1
92090659514. 2
92090659515. 3
92090659516. 4

Question Number : 79 Question Id : 92090615061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hi< 2t %y fee o B -

FA [ Han g & Ee ieitfeaa s § e 21
Fed 11 : a0 grao =1 e eifem sgmm | e 2)

TR HUA % A °, A2 fou o fawedi § | gag 39gw I W 99 Sif

(1) %A 1 3 11 2 g &
(2) @A 1 3 11 SHi TTea 8
(3) A 168 2, @i Fya 11 e 2
(4) FuF 1 7o 2, wifee %o 1188 2

Options :

92090659513. 1
92090659514. 2
92090659515. 3
92090659516. 4

Question Number : 80 Question Id : 92090615062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the kinetic energy of an electron in the lowest energy level of a hydrogen
atom?

1. 272eV

2. 136eV

3. 136eV

4. 272eV
Options :

92090659517. 1
92090659518. 2
92090659519. 3
92090659520. 4

Question Number : 80 Question Id : 92090615062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreit Erggram W] i Fctan el st § uk e & nfas st Fm 2y

(1) 27.2eV (2) 13.6eV
(3) 1.36eV (1) 272eV
Options :

92090659517. 1
92090659518. 2
92090659519. 3
92090659520. 4

Question Number : 81 Question Id : 92090615063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A white dwarf star has volume V and contains N electrons so that the density

of electron is n= g Taking the temperature of the star to be 0 K, what will be

the expression for average energy per electron in the star?

2
1. 3 (3425)32
m
2
2. I (3x2)23
10m

2
3. M (32np3
m

312 113
10 m{ )

Options :

92090659521. 1
92090659522. 2
92090659523. 3
92090659524. 4

Question Number : 81 Question Id : 92090615063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foll AT AR 1 A v%aﬂlﬁﬂﬁwsﬁazhﬁm;sﬁﬂzhaﬁmn:g%wﬁ
ar =1 aaEE 0 K 2, at it § ufd 3o e Sl &1 =ie 201 gm e

302 . 2 ap - 2/3
V) (@) (2) mmtﬂﬂznl

2
2/3 (4) 13:*: (3n2n)1/3

ﬁz 5
3 —(3
3) m{nn} Om

Options :

92090659521. 1
92090659522. 2
92090659523. 3
92090659524. 4

Question Number : 82 Question Id : 92090615064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The de Broglie wavelength of an electron having kinetic energy of 100 eV is

1. 200 pm

2. 120 pm

3. 50pm

4. 300 pm
Options :

92090659525. 1
92090659526. 2
92090659527. 3
92090659528. 4

Question Number : 82 Question Id : 92090615064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U getagi farmeht nfas el 100 eV 2 i 2 sl aorged 21

(1) 200 pm (2) 120 pm
(3) 50pm (4) 300 pm
Options :

92090659525. 1
92090659526. 2



92090659527. 3
92090659528. 4

Question Number : 83 Question Id : 92090615065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A metal has work function wy =3.3x10""? J. What should be the minimum
frequency of the incident radiation that can remove an electron from the metal
surface? [Given h = 6.6x10734 J-s]

1. 5x10'0 Hz
2. 5x10'2 Hz
3. 5x10'* Hz

4. 5x10'"° Hz

Options :

92090659529. 1
92090659530. 2
92090659531. 3
92090659532. 4

Question Number : 83 Question Id : 92090615065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foret amq *1 FE-BTH wy =3.3x1071% y B smfaa fafeor 6 =pew smafa #=0 @9
T1fee St 9Tq % T2 | Uk e Seateid W k7 (2 h=6.6x10"* J-s)

(1) 5x10'? Hz (2) 5%10'2 Hz
(3) 5x10™ Hz (4) 5x10" Hz
Options :

92090659529. 1
92090659530. 2
92090659531. 3
92090659532. 4

Question Number : 84 Question Id : 92090615066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Consider an inertial frame S" moving at a speed % away from another inertial
frame S along the common x-axis, where c is the speed of light. As observed

from S, a particle is moving with speed % in the y' direction as shown in the

figure. The speed of the particle as seen from S will be

#cl3
¥ Y4
S >c/3
> X > X

S
g By
9
2. Ec
9
3. @c
9
4. E:‘:
9

Options :

92090659533. 1
92090659534. 2
92090659535. 3
92090659536. 4

Question Number : 84 Question Id : 92090615066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wr el i srgeta B S, = W @ v x-om % s gR el 3w S @
Tl @ 2 g8l ¢ W i 9 21 Wi B S 8 UEw e W UR R T R e
1, %mﬁ y’ fesn 4 nfoum & S fa3 o g9k w0 21 %9 S IEefea w0 &l
e 2|

+ cf3
¥4 ¥'a
5 I »cf3
> X s > X

(1) Ec (2) Ec

9 g

21 18
(%) £c (4) £

9

Options :

92090659533. 1
92090659534. 2
92090659535. 3
92090659536. 4

Question Number : 85 Question Id : 92090615067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What will be drift velocity v, of the free electron in a copper wire whose cross

sectional area is A = 1.00 mm2 when the wire carries a current of 1.0 A.
Assume that each copper atom contributes 1 electron to the electron gas.

(Given density of copper = 8.94 x103 kg!m3 , atomic mass of copper = 63.5 u,
1u=1.66x10"2" kg)

1. 7.4x107° m/s
2 7.4x1072 mfs

3. 7.4x10"7 mis

4. 74 mls

Options :

92090659537. 1
92090659538. 2
92090659539. 3
92090659540. 4



Question Number : 85 Question Id : 92090615067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferel Aia % an § forae I 12 %1 8E%e A = 1.00 mm? 2 # 9@ 1.0 A 9RI EEa
2 @ 2 A sEH qe seragl $ vare 9 w0 el ue offae B A e aee go
Toae 18 § vs 3ol w1 dveE % 21 (fen R 9/ w1 99E = 8.94x10% kg/m3,
die =1 T 3e9H = 63.5 U, 1 U = 1.66x10727 kg)

(1) 7.4x10™° m/s (2) 7.4x1072 m/s
(3) 7.4x1077 mls (4) 7.4mis
Options :

92090659537. 1
92090659538. 2
92090659539. 3
92090659540. 4

Question Number : 86 Question Id : 92090615068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statements—| : Compton effect can be explained on the basis of wave nature
of light.
Statements—I| : Diffraction pattern of light can be explained on the basis of

particle nature of light.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true
2. Both Statement—I| and Statement-Il are false
3. Statement-| is correct but Statement-ll is false

4. Statement-| is incorrect but Statement-Il is true

Options :

92090659541. 1
92090659542. 2
92090659543. 3
92090659544. 4



Question Number : 86 Question Id : 92090615068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= g1 %o few o € -

HYA 1 :  HIPIeA WHTE = T T 70T WR(d & ATET T AT H S gl 2

wUd 11: g o faad T 61w Ht Softa usfd & sum @ =men $ 1 g6dt 2
T U 9T 8, A e om e 8 9 men ugw oo w9 b

(1) % 1 3 11 3H1 g &
(2) = 1 3 11 gHl e 2
(3) FeE [ od 2, AfFa FoE 11 T4 2
(4) uF [ TEE 2, SR wuA 11 981 3

Options :

92090659541. 1
92090659542. 2
92090659543. 3
92090659544. 4

Question Number : 87 Question Id : 92090615069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the relation between half life (T) and decay constant () of a radioactive
element?

1. T=0693A
%, T
0.693
3 T- l:].l':"iE}S
A
0.693
4 Tizz=s —
A
Options :

92090659545. 1
92090659546. 2
92090659547. 3



92090659548. 4

Question Number : 87 Question Id : 92090615069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el Yfeifiea et 1 -3 (7) 3N fauea-feenis (4) § v Hay 27

:‘L

(1) T=0693 A (2) T=
0.693
(3) T D.f.:iQS @ T= G.E;?S
A A
Options :

92090659545. 1
92090659546. 2
92090659547. 3
92090659548. 4

Question Number : 88 Question Id : 92090615070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider Rydberg (hydrogen-like) atoms in a highly excited state with n around
400. The wavelength of radiation coming out of these atoms for transitions to the
adjacent levels in the range.

1. Gammarays (A ~pm)
2. Ultra violet rays (x ~nm)
3. infrared rays (L ~pum)

4. radio frequency (. ~m)

Options :

92090659549. 1
92090659550. 2
92090659551. 3
92090659552. 4

Question Number : 88 Question Id : 92090615070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A w1 fgat T (RS -aey) Foafysh Infad w=wen | 8 faad 0 @ 400 21
1 g 8 Freread] Tl W gsn & e Ieafsa fafeon 1 qineed € w2

(1) T f (L ~pm) (2) 9OETE T (A ~nm)
(3) 3Gt A (L ~pm) (4) e am (L ~m)
Options :

92090659549. 1
92090659550. 2
92090659551. 3
92090659552. 4

Question Number : 89 Question Id : 92090615071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the mean life time (T) of a radioactive substance of which the decay
constant (&) is 4.28x1074 per year?

1. 584 years
2. 1168 years
3. 1619 years
4. 2336 years

Options :

92090659553. 1
92090659554. 2
92090659555. 3
92090659556. 4

Question Number : 89 Question Id : 92090615071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feredht teafFea el fame sm-fers (L) 4.28x107* wfwad 2, & aftma amg (T)
27

(1) 584 years (2) 1168 years
(3) 1619 years (4) 2336 years
Options :

92090659553. 1
92090659554. 2



92090659555. 3
92090659556. 4

Question Number : 90 Question Id : 92090615072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dispersion relation for electromagnetic waves travelling in a plasma is given
by o? =c2k? —mﬁ ., where ¢ and @, are constants. In this plasma, group velocity
will be

1.  proportional to but not equal to phase velocity

2. equal to the phase velocity
3. inversely proportional to the phase velocity
4. constant

Options :

92090659557. 1
92090659558. 2
92090659559. 3
92090659560. 4

Question Number : 90 Question Id : 92090615072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A | Agadaeh Wt qi 2 aftdm g6y e 2 o = ok - of

W& ¢ # o, s F) 58 wrem d gag 9 @)

(1) T T WTEE o o SEt T8 (2)  SEi) &9 % qual
(3)  WTEE1 97 % SERAEAT (4) fer

Options :

92090659557. 1
92090659558. 2
92090659559. 3
92090659560. 4

Question Number : 91 Question Id : 92090615073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List—II :

List—I List-—lI

(A) | NAND Gate (1) giDv
(B) | NOR Gate (11 ';:)Dv
(C) | X-NOR Gate () ’;:}v
(D) | XOR Gate (IV) ginv

Choose the correct option from those given below.

1. (AI); BIIV); (C-(II); (D))
2. (A(II); (B)-(1); (C)-(IV; (D)1l
3. (A BIV); (C)=(1): D)-(1I)
4. (A-(V); (B)=(I); (C)~(1); D)~(II

Options :

92090659561. 1
92090659562. 2
92090659563. 3
92090659564. 4

Question Number : 91 Question Id : 92090615073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ge-1 % @ g=t-11 1 faem fifaw .
-1 gei-11

(A) NAND 72 M ;:)DV
(B) NOR Tz (I ;:)DV
(C) X-NOR T (111) ;:}Y
(D) XOR TR vy :DV

Fret feu o faredi F O ot I W wwm i

(1)  (A)-(I1D), (B)«(IV), (C)-(1I), (D)-(I)
(2)  (A)-(1D), (B)-(I), (C)-(IV), (D)-(111)
(3) (A, (B)-(IV), (C)-(I), (D)-(II)
(4)  (A)-@V), (B)-(11D), (C)-(D), (D)-(II)

Options :

92090659561. 1

92090659562. 2

92090659563. 3

92090659564. 4

Question Number : 92 Question Id : 92090615074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following logic circuit represents

| p—Do—a

1. NAND gate with output 6= X +Y

2. NOR gate with output =X +Y

3. AND gate with output 8= X.Y

4. NOR gate with output 6=X+Y

Options :

92090659565. 1
92090659566. 2
92090659567. 3



92090659568. 4

Question Number : 92 Question Id : 92090615074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hra feu o it aftay gwie 2

x_—
[ p—fo—s

'\r"—

() NAND e fsamifra 2 0=X+Y¥ (2) NORTefsam fra 2 e=Xx+Y
(3) AND T fsmm ffa 2 = xvy (1) NORMz fsowmi fila 2 o=X+Y
Options :

92090659565. 1

92090659566. 2

92090659567. 3
92090659568. 4

Question Number : 93 Question Id : 92090615075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the shortest wavelength present in the radiation from an x-ray machine
whose accelerating potential is 50000 V.

1. 0.0248 A

2. 0.248A

3. 248A

4. 24.80A
Options :

92090659569. 1
92090659570. 2
92090659571. 3
92090659572. 4

Question Number : 93 Question Id : 92090615075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U% X-ray 99 F =1 faya 50,000 V 2 38 Xoray w9 8 Ieafea fafeso § ergam
7 =4 &1 W L2

(1)  0.0248 A (2) 0.248 A
(3) 2.48A (4) 24.80 A
Options :

92090659569. 1
92090659570. 2
92090659571. 3
92090659572. 4

Question Number : 94 Question Id : 92090615076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What happens if the electron spin is 3/2 instead of ¥47?

1.  The Bohr levels will change

2. The size of atoms will change

3. Energy will change

4.  Atoms will not be stable
Options :

92090659573. 1
92090659574. 2
92090659575. 3
92090659576. 4

Question Number : 94 Question Id : 92090615076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
w11 Erl & af 39 = % ERT R % B

(1) &R % i | gfEdq &m| (2) YW & TEd | gftadq 2
(3) vErEfEEs Tores | afeda g (4) wEm T T 2

Options :

92090659573 1
92090659574. 2
92090659575. 3
92090659576. 4



Question Number : 95 Question Id : 92090615077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Operational amplifiers can be used as

Summing circuit
Voltage regulator
Integrator
Differentiator

moows»

Clipping Circuit

Choose the correct answer from the options given below.
1. Aand C only

2. CandD only

3. A, CandD only
4

A and E only

Options :

92090659577. 1
92090659578. 2
92090659579. 3
92090659580. 4

Question Number : 95 Question Id : 92090615077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hispaters: yads fie @@ 8 =W | @ w g 2
(A) U Ghe IS Hl W@

(B) U diced fraas % w9 H

(C) U TS % F9H

(D) UF ahcish & &9 1

(E) U aq giqy $ 78

9 feu o fawedi d @ 9t 3 w1 T Hifw
(1) =g (A) 31 (C)

(2) %A (C) 3R (D)

(3) %A (A), (C) 3 (D)

(4) Hae (A) 3R (E)

Options :

92090659577. 1
92090659578. 2
92090659579. 3
92090659580. 4

Question Number : 96 Question Id : 92090615078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l1 : We can join two P-N junctions back-to-back to form a
transistor
Statement—Il : In a transistor the emitter base junction is forward biased while

base collector junction is reverse biased.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false

3. Statement-l is correct but Statement-l| is false

4. Statement-l is incorrect but Statement-l| is true
Options :

92090659581. 1
92090659582. 2
92090659583. 3
92090659584. 4

Question Number : 96 Question Id : 92090615078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A= & g foy mo &

#e 1:  gifaet &9 % forw &m @ PN ofuai =61 v gat & faufia @0ifsE = am #=
Oehed 21

Fud 11 : ot oifoe o Imaeish-amam giy smfefser amfga 2 2 9efe snan-gurd
oy wafefis amfa a2

I FUA o+ A H, A= for o fasmedi § O gen 39 39w 994 Fif

(1) = 1 3 11 81 ot &
(2) o 1 3 11 2 Tora &
(3) oA [ gd 2, ofF 9= 11 Teq 2
(4) wuF 1 7eE 2, @l Fua 1198 2

Options :
92090659581. 1



92090659582. 2
92090659583. 3
92090659584. 4

Question Number : 97 Question Id : 92090615079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electrons are accelerated by 344 volts and reflected from the crystal. The first
reflection maximum occurs when glancing angle is 30°. What will be the value of

interplanar spacing of the crystal? [Given h=6.62x10"3%Js, m_ =9.1x107>" kg]
1. 0.06x107"%m
2. 0.66x1070 m
3. 1.66x107"0 m

4. 266x10710 m

Options :

92090659585. 1
92090659586. 2
92090659587. 3
92090659588. 4

Question Number : 97 Question Id : 92090615079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foreht fopreet | 344 Tz & = fawa g oAl 1 grafda s S 21 5" g
FIU 30° BT & 9 9un ARGy UEdd B 21 BRee % 3iA0ae 3aue & 5 =1 B8 7

(feam 2: h=6.62x10"Us, my =9.1x10°> kg )

(1) 0.06x1071% m (2) 0.66x10°"" m
(3) 1.66x1071" m (4) 266x1071° m
Options :

92090659585. 1
92090659586. 2
92090659587. 3
92090659588. 4



Question Number : 98 Question Id : 92090615080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the range of input voltage V; in which the Zener diode shown in the
figure below, conducts?

220
+e WA
.I'R—} .l‘z .I'L
Vi I =1.25kQ

Vz

V, =20V, P,(max)=1200 mW

1. 2052Vto30.72V
2. 2352Vt036.72V
3. 2652Vtod40.72V

4. 3052Vto4272V

Options :

92090659589. 1
92090659590. 2
92090659591. 3
92090659592. 4

Question Number : 98 Question Id : 92090615080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= fom 1 ewife wu S erie & =em &g FEw deea () S ooog @ Eft g

220

I, =125k

V, =20V, P,(max)=1200 mW

(1) 2052Vto30.72V (2) 23.52Vto 36.72V
(3) 2652Vto40.72V (4) 30.52Vto 4272V

Options :



92090659589. 1
92090659590. 2
92090659591. 3
92090659592. 4

Question Number : 99 Question Id : 92090615081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The phase space is a

1. two-dimensional space

one-dimensional space

2
3. three-dimensional space
4

six-dimensional space

Options :

92090659593. 1
92090659594. 2
92090659595. 3
92090659596. 4

Question Number : 99 Question Id : 92090615081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el fafentra e & graeen oofe 2

(1) fefem gufe (2) U o omfe

(3) Tafem oufee (4) wefam gufe
Options :

92090659593. 1
92090659594. 2
92090659595. 3
92090659596. 4

Question Number : 100 Question Id : 92090615082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the output voltage of a non-inverting OP-AMP having R;=100 kQ,
Ry =500 kO, when the input signal is of 2.0 V.

 ER
2 8V
a3 12¥
4. 16V
Options :

92090659597. 1
92090659598. 2
92090659599. 3
92090659600. 4

Question Number : 100 Question Id : 92090615082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferelt s OP-AMP &t farfa afeear #=n grft T R, =100 kQ 3 Ry =500 kQ 2
it Fram famer 2.0 Vv 27

(1} BV (Z) 8V
(3) 12V (4) 16V
Options :

92090659597. 1
92090659598. 2
92090659599. 3
92090659600. 4



